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1. The two springs in Fig. 1 each have a spring constant of 10 N/m. They are

stretched by 1.0 cm when a onca.aa wmmmmm through the wire. How big is the

current? (10%)

20 cm

B=05T

2. InFig.2, &=12V,R, =4.0Q, R, =8.00Q, Rs =2.0Q), and L = 2.0 . Find

the current I; (a) immediately after.the switehiis first closed and (b) a long time

R
[——

after the switch is closed. (c) >mmmi,&.~oﬁm time the switch is reopened. Now

what’s I,?  ((a) 5%, (b) 5%, (¢) mo\a,w\.\*%gh o
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3. A slide projector needs to create a 98-cm-high image of a 2.0-cm-tall slide.

Assume that it is a thin lens. (b) Eoé;mmﬁ mgoﬁ@%o: place the lens from the slide?

((a) 5%, (b) 5%) - .. — g}kﬁ

sphere has charge +20. A point charge +( sits at the center of the hollow sphere.

Determine the electric fields in the three/regions (a) ¥=a, ) a<r < v , and

Arsmerore [
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5. A wave on a string is described _uu\b@ J - (3.0cm) mETiw 1 70008 +Lu

where x is in m and 7 is in s. (a) In what direction is this wave #mérumo @v

ﬂ\_

What are the wave mwmoa (c) the ma,m;mmn& v, ﬂﬁ (d) the wave number? () At ¢t =

[T |

0.50 s, what is the 9%5859: of. Eﬂaﬁmfﬁ x= o 20m?  ((a) 6%, AS 6%, (c)

6%, (d) 6%, () 6%)

6. A child sleds down a ?oﬂoiomw Féﬁ%w vertical drop is 7.2 m. At the

e e

coﬂoE there is a level but Samw stretc %ﬁw% the coefficient of WEoﬂo friction

it

|70

is 0.51. How far does she slide acress- %@.@ﬁ%mﬂﬁﬁowo (10%)

~ The screen is 300 cm from Em slide. (a) gmﬁ focal tength does the lens need? |

4. A hollow metal w@wﬁo has inner radius a and outer radius b. The hollow
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7. Two forces act mass that undergoes acceleration

on a 3.1-kg

a=0.91i-027j m/? If one of the forces is

other force? (10%) e d pend
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£y =-12i-2.5j N, what is the




